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1. ST MdeT § Ued SHeial & SMyR W enadf fifea afien & R 5o 7w g1 afe smud o fagus &
YR, SRS TNl a1 &, A 3MUP! SEGaR! TR aR W IE FX ol St
Candidates have been called for written test based on the data furnished by them in the online application. If
you do not possess the required qualification as per the advertisement, your candidature will be summarily
rejected.

2. W o = 3§ ugd snaelf uy-ufkiet T4 ot TH oR IWR-Xie # 33 7Y Se=h &l &9 9 ug dl
Candidates should read carefully the instructions in the Question Booklet and OMR Answer Sheet before
start answering.

3. ongeff udten gfar A Fdlers 6t SufRed & 6 UaY U TR BAAR B
Candidates should sign the Admit Card only in the presence of Invigilator in the Examination hall.

4. UH-UF, 100 U & WY UY-gfRIepT & = H B, et far0r fmad § aur vl Uy 1 9k o1 § e IR Reed
g, o ¥ Fad us fRiden (-deg gt Bl
The question paper is in the form of Question Booklet with 100 Objective type questions carrying one mark
each as detailed below with four options indicated, out of which only one will be unambiguously correct.

U/ Part fga=uT / Description Ui &1 T=AT / No. of Questions
YN/ Part A | Aicx arg A, 1988, THI-THY TR JUTERNAT 50
Motor Vehicles Act, 1988 as amended from time to time
YRT/ Part B | 3{Usit / English 15
YW1/ Part C | {10 / Arithmetic 15
AT/ PartD | HMH 911 / General Knowledge 20
Fd TOTAL 100
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Rifad THen I YA § S5-3-5 50% 3@ TUT HTT-B, HITI-C Td HFT-D F GYHR T F 50% P WE HI7
arer engdf srere giten & o a5 S|

Those who secure a minimum of 50% marks in Part — A and minimum of 50% marks in Part — B, Part - C
and Part — D combined in the written test will be eligible for consideration for shortlisting for skill fest.

sraffel o 9 g o TR e Rl TR iRl 35 SRR, o U o I e H R g 1 e/l e
¥ T uige 09 o R #1 98! STR o1 997 S o

Candidates have to select the right answer by marking the corresponding circle on the OMR answer sheet
by blue/black ball point pen as per the instructions given in the OMR answer sheel.

vyt qfereT & 8 TG A W) aisarell SO S Ud i o |

Candidates should write their Name and Roll Number(s) in the space provided in the Question Booklet.

5} a1 ST 23 ¥ R e § T oi U SR ite war e e 2|

A separate OMR sheet is provided for answering the questions.

3 T 3R e W sid aria grayTigde fan s AR afaiad off o o Wit ver el fan S|

Marking in OMR sheet may be done with utmost care. No spare OMR sheet will be provided.
o qfRrT e g PN T g T IRIST 1S (A/B/C) P 3 T Y IR e ¥ &3 1 ' W

R =T wfewl
Question Booklet Code (A/B/C) printed on the top right corner should be written in the space
provided in OMR Answer Sheet.

3o R e & woft ufafyat Hiefl/mreh @il F &t dige U7 A Bl 1 Sl eyl

All entries in the OMR Answer Sheet should be with blue/black ball point pen only.

AT el Y Wt aTe aTee T Ud Oy 18 Jre T S el o R snde i 8, 5 s uw R
SR Tie F RY o w F 9 € ware sifard = @ Re § aur a1 € i o e Bt gyl
A T orguT 9 TR Faw o Ug 3 e R Ry smew Rt 391 s e § dw v g9d /
frar g

Candidates who have applied for both HVD ‘A’ and LVD ‘A’ are to invariably write both roll numbers
in the respective columns provided in the OMR Answer sheet and hand over both Admit cards to the

Invigilator; otherwise they will be considered only for the post for which roll number is written and
Admit card is submitted. , :

TR T 1 31 T S, TR A 23 W T 30F 3R T IR b RAU 0.25 e o1 vy @1 @ ¥

3ifdes 3TR Totd IR AT ST
All questions carry one mark each, zero mark for no answer and negative 0.25 mark for a wrong answer.
Multiple answers for a question will be treated as a wrong answer.

T g & SRR, Sepdiey, HiaTse B, Wéar-, T g, areien e A o fdl wawife
e B AR TR &

Computers, calculators, mobile phones, smart watches, reference books, logarithm table or any other
electronic gadgets will not be allowed inside the Examination Hall.

T O & ST R T SUAN T HH & R fbar s awr 1

Space available in the Question Booklet can be used for rough work.
e waTE TR T, 3 T AR SR M B SR Y e g gl & v o 1 ot T o IR T
frfiers B gUE o ¥ TUT SUST gEitwe v snadf e wr @ i

On completion of the written test, tear off the OMR Answer Sheet along the perforation mark at the
top and hand over the original OMR Answer Sheet to the Invigilator and retain the duplicate copy
with candidates.

et 9 e b Ugd 1% el & G udien gid sigA &t oAl T 81

Candidates are not permitted to leave the Examination Hall during the first 1%z hour of the examination.
e % are, spadf o T aR IR Wi ud vaw ux FRiae &1 gud e

After the Examination, candidates should hand over the OMR Answer Sheet and Admit Card(s) to the
Invigilator.
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YK} 918 ITa®-T /S5 18- A16® - U (9 &, 745/746)
HEAVY VEHICLE DRIVER — A / LIGHT VEHICLE DRIVER — A (Post No. 745/746)
YT / PART - A

afe SIS e o1 9= ¥ Hiex a6+ 9ol ¢, 4 39 R sifiiean Se-Aam g 2
What is the maximum penalty, if a person drives a motor vehicle without licence?
(a) Rs.500 (b) Rs. 1,000 {©  Rs.1,500 (d)  Rs.2,000

e 1% i Hiex e I 9y, HiSTSe B ©1 SUAN S Ukl 9Id] € o) 39 3vg ®F-at
&ETHE HRATS DI JTWI?

If a person is found using a mobile phone while driving a motor vehicle, then what punitive action
can be taken against him?

(@) TR S ST Bl / Disqualify the learner's licence

(b) STEfdT AR erdvg ST/ Disqualify the driving licence
(€ TR 7T a1 &1 YA a1 &AL / Disqualify the registration certificate of the driven

vehicle
(d) THPI GBI TEIT IE BT/ Cancel his driving licence
R ToliT Bt JyaT ——— Qo eI Bt @
Validity of temporary registration is not exceeding
(@) TIF8H/ Two months (b) T& HEIMT/ One month
(© 157/ days () 1011/ days

&AT-UiE0r & e & e mitid sufdd 1= giar o7

Who is the authorized person to conduct a test of competence?
(@) Yol Wit/ Registering Authority

(b) YR TSR / Police authority

(© GIERLRIBE / Licensing Authority

(d) dqédd ek d’;lé 981 / None of the above

& o nife Fid=e B eiiazaedr gidi 81/ Speed governor is required for

(a) S Pl / Stage carriage (by  GufgarasHi / Two wheelers
(©) YR aTEA1 / Police vehicles (d) UIA"/ Ambulance
HIeX 187 AT & oFER, afaufd & faw smaed — W far s =R

Application for compensation to be made as per MV Act at the
(a) QﬂE":H—Rl'GTU?/ Place of accident

(b ST RIT W / Place of Insurance
(© TIE] YA & AR U / Place of residence of the claimant
(d) B‘qéaﬁﬁ@ﬁ'sf:ﬁ?f/ None of the above
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10.

11

12.

13.

Fed WX ATe B TG 91T HY H Jehl 82

How can you identify a vehicle as Light motor vehicle?

(a) {31 Y21 T 95 9% T & / By checking Unladen weight

(b) Eﬁaﬁ:{ﬁ?ﬁ? ¥ B P / By checking Gross vehicle weight
() TR %! B9 FR & / By checking Number of tyres

(d) SHH (2) T (b) / (a) and (b) above

femm GBddP BT T Gl E?IHT %? / What is the colour of direction indicator?
(a) &Y/ Amber (o) YT/ Yellow
() +RIN/Orange (d) &/ Red

frpfifed ol § 3 g are % fw wRite @1 saxus et gkil?

Which of the following vehicles doesn't require permit?

(a) % IBR & A6/ Any transport vehicles owned by Central Government

(b) ST TRHBR & d8 / Any transport vehicles owned by State Government

(@ Hiex are+] JYUIT & T8/ Any transport vehicles owned by Motor Vehicles Department

(d) ST (2) W (b) / () and (b) above

AEET SR} HRAare WiSRT P B 8? / Who is the licensing authority?
(@) Tged &g afkas 3fBRT / Joint Regional Transport Officer

(b) HIex 918+ M1 / Motor Vehicle Inspector

(© &3t uRasd HUER / Regional Transport Officer

(d) 34 URag HIAUR / Deputy Transport Commissioner

SRYRT WRite &Y 2@y 81 § / Duration of a temporary permit is
(a) 6 HEM 9 3P T8l / Not exceeding 6 months
(b) U FEH ¥ 38 76l / Not exceeding one month

© 4 H—Eﬂﬁ@ 3% T8l / Not exceeding 4 months
) 20 fe=t T 3% T8l / Not exceeding 20 days

ot o 7 ol w7

What is the meaning of Category ‘N'?

(@) aEiaE ¥ Y $H-9-5 IR uigdl ardl Hie g

Motor vehicles with at least 4 wheels for carriage of Passenger

(b) WEaE ¥ RIg $H-3-50 IR ufed| ard HieR aig

Motor vehicles with at least 4 wheels for carriage of Goods

©) gEaed & oy o9-¥-5a 39 ufgdl arel Hiet argd

Motor vehicles with at least 3 wheels for carriage of Passenger

(d) WG P T A-§-50 O afedl ard Hie a6

Motor vehicles with at least 3 wheels for carriage of Goods

e TTcvaeT SRREY 1939 % I U
Motor Vehicle’s Act 1939 was amended in
(a) 1960 & 1999 () 1995 & 2002
(© 1988 & 1994 ) Suded H Y HIs 981 / None of the above
4 745/746 DVR



14.

15.

16.

17.

18.

19.

GbeTp, TGS ® & =g Wi for fafed fru o 9ovd € Fgaa &

The indicators that may be marked for visible outline of the road is called
(@) TSHYTI UHa® / Roadway indicator

(b) TSHATT ST 9 =TT / Roadway delineator

(© TSHAT @I/ Roadway line

(d} Wﬁm/ Roadway marking

fordt are &1 3R A B ¥ Usa, [HY 3% B39 & Jauasal gl 82

What need to be checked before starting the engine of a vehicle?

(a) TSARC / Head light

(b) aa'w Brakes

(© ST e WR Ud S5 2ifed WY / Radiator water level and engine oil level
(d) T/ Fuel

TRTE W G181 I 1/ Drunken driving

(a) i argAl 7 Gﬂﬂﬁ %/ Allowed in private vehicles
by IRFTHI Wﬁ"f%/ Allowed during night time

(©) Hﬁﬁ]@‘*ﬁﬁﬁﬁh%/ Prohibited in all vehicles

d) SufE a7 All of the above

%rs’aamw:ﬁn%mwmf%u / The hand brake is to be used

(a) %mmﬁ%ﬁ‘mn‘o reduce the speed

(b) SFEFD §F & & [ / To apply sudden brake
© Wﬁﬂﬁ%ﬁ'ﬂ/ To park a vehicle

(d) Sugad T}/ All of the above
URaE 15 DI ST UgH P ST bl ©
A transport vehicle can be distinguished by
(a) 9189 % T Y/ Colour of the vehicle
(b) e & ek W HI GG / Looking at the number plate of the vehicle
(€ TRR & HHR & STHT / Looking at the tyre size

(d) ﬂaaﬁmmm%/ Cannot be distinguished

T DI ek U GT6 T TS a4 [l G Safad &1 RIFTANG $ Tl 87 / Can a person

transfer his driving license to another person?

(a) I UGH BT WHASHRI i Sqafd T T o2 T &
He can with the permission of the licensing authority

(b) Topdt off uitufa # a8 RIMARS 78 &% War
He cannot transfer under any circumstances

(0 for ot ergafa & a8 —iHfaRa s g g
He can transfer without any permission

) Hd 3 o w iRk s g

Depends on the circumstances of the case

5
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20.

21.

22.

23.

24,

25.

%Wﬁﬁ%ﬁaﬁrﬁ@m%l / Use of horn prohibited near
(a) HfRe, 79, 1fdx / Mosque, Church and Temple
(b) SR, <Ay / Hospital, Courts of Law
(© TR R / Police Station
(d) Gﬂéﬂﬂ Tt / All of the above

53" opd P10 FT §Ia 87 / What is the colour of STOP sign?
(3) I/ Red (b) Wi/ Yellow
{©) T/ Green (d) YT / Blue

FrofefEa d%d exiar & /The following sign represents

(@) TG/ Give way (b) 3T 3T / Hospital ahead

{c) A FRIUe éa'aT_/Traffic island ahead (d) Gﬂéﬂﬁﬁ@fﬁﬁﬁ/ None of these
Frafifad S&d <iar § / The following sign represents

(a) R &Y O TSI A1 § / Right turn prohibited
(b) E’Ié GﬂT?ﬂ&WﬁT@/ Sharp curve to the right
(Q) ?&E:fﬁﬁ?&’/ U-turn prohibited

(d) ijaa Y ﬁé :i_ﬁof / None of these

TG WS BT T & dba ¥ fore e T Bt g o1 v e S 62
Which colour of background used for ‘'NO PARKING' sign?

(a) I/ Red (b) T/ Yellow _
{© +ielT / Blue (d) Wﬁ@ﬁé?ﬁﬂ/ None of these
Proifrd €9 ——— dTeAl P had HY ST 6l

The following sign represents Entry only for vehicles

@ 3579 3% FaTs ard / With height above 3.5 meters

) 3.5 e it 9IS are / With width above 3.5 meters

(&) 35 ez 9% B FITS 91 / Having height not exceeding 3.5 meters
) FTTH PTG/ None of these

6 745/746 DYR



26.

27.

28.

29.

30.

31.

3Ny it SR1E W) U 8 § el dien e foies 81 @1 E, < oy

While you are approaching an intersection where the yellow signal light is blinking, you should

(a) dfr BTE UTdee T8t 8, I TR F S 98
As there is no restriction, proceed at the same speed

(b) TSI 3P G qYUTEX Hehd & 3117 HT SAWR HY
Stop the vehicle and wait for the green light to appear

© TS H TR 3R 78 g e & g 8§ 6 W IR WA §, e §g
Slow down the vehicle and proceed only after ensuring that it is safe to do so

(d) $TH Y P 8]/ None of these

g AR e ———— GRI &R [BU 9 d1igu|

All motor vehicles must be covered by

(3) ©ftgq &1/ Life Insurance (b) <l urdf ST/ Third party Insurance
{© Y §HT/ Comprehensive Insurance  (d) E:Iﬁﬁaﬂ'é?éﬂ/ None of these

ST TEaTe T8 § ¥ SAarel graH g 8§

Minimum distance to be kept from the vehicle going in front is

(@) 10 HIeI / meter

(b) SHIEX/ meter -

(© YRR & ER YRIEM g / Safe distance according to speed
(d) E:I'Ef @ﬁ%?ﬁ‘}f/ None of these

Foi are o & SR SHar Al @ 9] —————— H Sfeiid gl 8

The number of passengers permitted to be taken in private vehicle is recorded in the
(a) USlg yHIu-uH / Registration Certificate

(b) DI TId / Tax Token

(© Wiear G@ﬁqﬁ/ Permit

(d) TFHABIE T8I/ None of these

Sffded Eﬁﬁ@?ﬂ%ﬁﬁl’————— / Overtaking is prohibited when
(a) TS Uhe TP Gigd A Y@ | RfRa e @

the road is marked with broken center line in white colour
(b) O Ts& G T B Tad e ¥ @ AT e g

the road is marked with continuous centerline in yellow colour
(©) W"@@q@@qﬁﬁ%w&ﬂ%/vehide is driven on a steep hill
(d) F7H Y BIE T8I / None of these

o g5e i Wisa el ¥ fafwa fear mar g, d e

if the road is marked with broken white lines, you

(a) 7Y gafdd 8! ®1 / Shall not change track

by ae TR g df 9y uRafdd %% ¥od § / Can change track if required
(€ dTe ¥ il / Shall stop the vehicle

(d) F@ﬁﬁ:ﬁ?{/ None of these

7 745/746 DYR



32, TP TR R SifYeaH Sged 9 R
Maximum permitted speed of trucks on national highway
(@) 50 el Eer / km/hour () 60 fHi/Eer / km/hour
(¢) 70 TdHl/Eer / km/hour d) 80 forHEl/EeT / km/hour

33, AR e &a ua e o § o

Flashing yellow signal is used when

(a) TN YT SIH -8l @R 8 oid / Traffic Lights Aren't Working
b) TR E W iR Trar § o &g

You Should Siow Down & Proceed with Caution
(© T HTHHREAE/Men are at Work
(d) Eﬁ@ﬁé?ﬁ/ None of these

34, TP aET & R Pl 3 B1H-0 ffte srawged 82
Which of the following is a legal requirement for every vehicle?
(a) Ui SUER FIRT / First Aid Box (b) ifafead algar / Spare Wheel
{c) 3fifs 3N vomett / Audio System {d) Eﬁ@ﬁf—%ﬂﬁ/ None of these

35, igi-ag B, R der O 3 ok 16 ¥ Tk Fepen S @
Carrying of load which projects backwards beyond the vehicle is
(@) a3l BIdl § / Always permitted
(b) SR ST U o7 e QRd are & UIed BR Y U Hiex 7% 9g1 B Sl it 8

Permitted only to extend up to one meter from the rear end of the vehicle with suitable

warning lights or flags

(¢ SFIHARI A& 81 § / Not permitted
(d) ﬁﬁﬁ&ﬂ'&cﬁ/ None of these

36. Trdl Hiex wR & 5 diil 1 Uie 3¢ Tew B o=l gl 87
Who all are required to wear seat belt in a motor car?
(a) TTEE D1 / Driver
(by AT 3 UEL BT / Front Seated passenger
(© Wﬁ%@ﬁ@ﬁﬁﬂ?ﬂ?ﬁ%ﬂ@ﬁ / Front face rear seated passenger

(d) wiaawﬂ / All of above

A 8 745/746 DVR



37.

38.

39.

40.

41.

mmaﬁv@ﬁaﬁ%ﬁawﬁm—mm%@ﬁU%mmmw%l

Invalid carriage means a motor vehicle specially designed for the use of

(a) WW@WETW/ Persons suffering from physical disabilitie§
(b) IR/ Ladies

(© dINg ARG / Senior Citizen

(dy 18 ¢ I H1 39 F T & [AE / Children below 18 years
e} Hiex e @t aifican G o 2R 32

What is the maximum width of a motor vehicle?

(@) 3.6 HIcT/ meter (b) 28T/ meter
(c) 26 e / meter (dy 3.2 TieR / meter
3R UelepRuT MTRBRT B4 giar 57

Who is the Additional Registering authority?

(a) Ygad &3 uikas SMi¥& Rl / Joint Regional Transport Officer
{(b) Trex gred [ARiei® / Motor Vehicle Inspector

(© &g gRvage SRy / Regional Transport Officer

dy U ufeagq SMABRI / Deputy Transport Commissioner

TF U SR § T B b Gy T I WHR I 31 YT gl 87

What is the role of Central Government, relating to introduction of HSRP?

(a}

(b)

(0
(d)

T REMT U0l WK o WIHah! Td TARigansii @i g a1

Notifying the standards and specifications of High Security Registration Plates

= Rl ¥ YR TR Wl o1 ude 3R fgsarel o ey Wipht UgH Heare gdiem
Toild! bl g AT

Notifying the testing agencies who are to test the plates and give Type approval to vendors
based on these specifications

Fﬂ‘l\gﬁﬁﬁfﬁf B{fﬁﬂﬁl’d %L / Notifying the date of implementation

@éﬂﬁﬂlﬂ/ All of the above

Fofafad & 3 5 wFl w widn Aitg g e

In which following places, parking is prohibited?

(a)
(b)
(©

TIEE! R / On foot path
QW&TWW/ On one way road
@WWW / On two way road

{d) @é%ﬂﬂﬂﬂ]’e‘ﬁ% G{Iﬁ/ In front of a parked vehicle

9 745/746 DVR



42.

43.

44,

45.

46.

Sgorety T ) BreaR waes b Herl i Wit & e 3 v & Ry SfR A o

oot gl 82

What is the age of the motor vehicle intended for the use as a national permit vehicle in respect of

goods carriage other than multi axle?
(@ 15 v / years (b) 14 G / years
© 1334/ years (d) 1239/ years

3 & T O B ATe USH BN T Bl S ¢ ol

When a vehicle is parked on the road side during night,

(@) T8 I did [oraT SfF AT / The vehicle should be locked

(b) U8 GreT 1 A & R TRy Sfd o) e i €T W B ey

The person having license to drive such a vehicle should be in the driver’s seat
(€ UIH arge A9 T AeY / The park light shall remain lit
{d) B‘Wéﬂﬁﬁ@ﬁéqﬁ/ None of the above
wee Uae, TSI qul ed, 7Y T ey ST & S HEl D 87

Who is the Union Minister for Road Transport, Highways, and Micro, Small and Medium

Enterprises?

(a) e SaR™E /7 Nirmala Sitharaman
(b) T TS / Nitin Gadkari

(© ST AE / Amit Shah

(d) Gcrémﬁ@rﬁéqﬁ/ None of the above

S ared & R TR Ui &3 3] T g 8

The minimum age for attaining a license for a geared vehicle is

(a) 163‘§/years by 18 a‘ﬂflyears_
{(c0 20 Ty / years d 21 EL / years

a1 TS St Bt IS W, Yeaaw/BT / In a road without footpath, the pedestrians
(@) Wﬁﬁl’@vﬁ?ﬂﬁ'ﬂ@ﬁ/ Should walk on the left side of the road

(b) mﬁmﬁ 3R T AT / Should walk on the right side of the .road

(c) m%% mmtﬁaam%/ May walk on either side of the road

(d) 3‘3@3\7{ ﬁ@faﬂé:ﬁﬁ/ None of the above

10 745/746 DVR



47.

48,

49,

50.

e a1 T A S Ry o 2

Fog lamps are used in a motor vehicle

(a)
(b}
{c)

(d)

3 & TG/ During night
WI§ 48 31 / When there is mist
wid fauda faen § sriaren are+ f30 age S A #R /1§

When the opposite vehicle is not using dim light

Uq?i’c}ﬁ i / All of the above

THiex are ot et P o7 o wigs s o g 82

Who has the power to fix the age limit of motor vehicle?

(a)
(b)

(©
(d)

I GRBR B / State Government
The licensing authority empowered by the state
F% WWHR P / Central Government

H% RPN Y oY WHR R BIS IFdl §
The Central Government can leave it to the state government

1 31E Rfad BIE 39 siftfame st e <3 & vy & Jdy § o iR &7 IuiT e
TP §?
Can a civil court exercise its jurisdiction relation to the question of grant of permit under this act?

(a)

No, the civil court cannot intervene

s & adf R R exar g/ Depends on facts of the case

ﬁ, WW%'\H&' anamﬁ/ Yes, it can when it is necessary
R I 5, SR I e TS B FRfaer =arner oY I §

If the High Court directs the matter to civil court, then it can

fomr dim ot {6l argw &) e & a1 afiomg gite

What are the consequences of driving an uninsured vehicle?

(a)

(b)

()

(d)

6 HEHI 1 HRENY & TFdl 5
May be subject to imprisonment which may extend to 6 months
3 I &1 HRIEN ! Ghdl ¢ U1 U §oR U &1 FHIAT a1 S

Shall be subject to imprisonment which may extend to 3 month or with a fine of one

thousand rupees or both

A BOIR S0 1 Fad T

Only subject to a fine of three thousand rupees
AR E STUR $RIAN / Is subject to imprisonment according to the act

11 745/746 DVR



51.

52.

53.

54.

55.

56.

57.

58.

UM/ PART - B

He is not honourable man.

(@) the (b) a (&) an (d)
For him back was unthinkable.

(@ tosail (by sail

() sailing (d) sailed

They rarely speak English, ?

(@) didn't they?
() do they?

You can meet me at a time.
(@) latter
(@ later

Synonym of ‘liberal’ is :
(@) Loving

(&} Generous

Antonym of ‘Fragrance’ is:
(@) Stink
() Trudge

Noun form of ‘speak’ is:
(a) Speak
(¢ Speech

Find out the correctly spelt word:
(@) Ocurrence

(¢} Occurrance

(b} did they?
(d) don'tthey?

(b)y last
(d) latest

(b) Tolerant

(d) Gentle
(b} Aroma
(d)y Perfume
(b) Speach
(d) Spoke

{b) Occurrence

(dy Occurance

12
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59.

60.

61.

62.

63.

64.

65.

A group of lions is known as

(a) Swarm (b)

{©0 Team (d)

He gets up early everyday Sunday.

(@) Exempt (b)

(@ Accept (d)
Find the odd word out:

(a) Glare (b)
() Gloze (e)]
The phrase ‘Take in’ means

(a) Begin (b)
(9 Endure (d)
They cannot ———————— the fire

(@) Putln (b)
{c) PutAway (d)
One of my cousins —————in America.

@ s (b)
{c) were (d)

Change the following sentence into indirect speech :

She said, "Are you ready"?

(@) She said that whether | am ready
(b) She asked that whether | was ready
{©) She asked whether | was ready

(d) She asked whether | am ready

13

Flock
Pride

Except

Expect

Gleam

Glow

Raise

Deceive

Put Off
Put Out

are

be
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66.

67.

68.

69.

70.

71.

72.

YT /PART - C

<) TrREmall 1A 15 31 Afy I gl BT A i 3/10 B, A 3 TBId HH-E 87
The sum of two numbers is 15,if the sum of their reciprocals is 3/10. Find out the numbers
@ 9,6 by 8,7 (¢ 510 d 4,11

el Wei-pe UG A 5 928 YT O §1 Ud B Td® gEX & WY Qe 31 3% oo fbaq el
KRBT

Five children take part in a tournament. Each one has to play every other one. How many games
must they play?

(a) 8 (by 10 (0 24 (c) 30

foref) Then & T B QS T8 SUX F 1T 4 3 U HRaT 8 SR VIF TTerd SeR b [ 1 37 Gl
31 ¢ T2 98 T 60 WHT BT ITR AT § AR 130 i U F § Al febarl Wl BT 96 Wl I &
T 8?

In an examination, a student scores 4 marks for every correct answer and loses 1 mark for every
wrong answer. If he attempts in all 60 questions and secures 130 marks, the number of questions
he attempts correctly, is

{(a) 35 (b) 38 (0 40 (d) 42

T 3gH 30 A § 720 3 T9d o1 ST B &) 90 ST fban fat | 270 W =ad @
JIUT H?

Men consume 720 kg of rice in 30 days. In how many days can 90 men consume 270 kg?
(a) 18 by 12 © 9 (d) 15

et 37T 25 B9, 50 A0 1 FUA S R 345 ¥ U A ¥ 9 oo P 31 IR E, A A
130 & e Righ &7 -

In bag there are coins of 25 paisa, 50 paisa and 1 rupee in the ratio of 3 :4 : 5. If there are in all
Rs. 31, then how many 1 rupee coins are there in the bag?
@ 12 {b)y 16 () 24 (d) 20

A T T F 20% B REE TF W B PRUT 240/- 3ud H 6fFmn aifafvad I wdie urdh g1 R
&1 ufa fre g gea e 27

A reduction of 20% in the price of sugar enables a housewife to purchase 6 kg. more for Rs. 240.
What is the original price per kg.of sugar?

(@) Rs.25perkg (b) Rs. 18 per kg
(¢) Rs.15 perkg (d) Rs. 10 perkg

gmﬁwaﬁaﬂaﬁﬁﬁ7%lU%Wmﬁm@f@n%mw%ﬁmaﬁ%ﬁwsmm

The average of 10 numbers is 7. If each number is multiplied by 12, then the average of the new set
of numbers will be:
(a) 82 (b) 84 © 7 @ 19
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73.

74.

75.

76.

77.

78.

79.

80.

12.5% %mm@wﬁa@f%mw&rﬁmﬁwﬁﬁﬁM?

How long it will take to double the bank deposit with a normal interest rate of 12.5%?

(ay 8 by 7 © 9 (d) 10

10 Gl 1 of19d 15 1 91 7 U8 & T4 fob UM Sl T T@36 1 ITerlt § 26 U for
HEIKHEIGEE
The average of 10 numbers is calculated as 15. It is discovered later on that while calculating the

average one number, namely 36, was wrongly read as 26. The correct average is:

(@ 16 by 14 (¢ 20 (d) 18

7.2 1 [awr ufad 6 §id1 82 What percent of 7.2 is 67
@@ 10% (b) 20% © 81/3% (d  None

300 T A & faera & 40% <+ 81 59 faeaa o fsaen It fiyaman < fos <o T 50% B e
300 gm of sugar solution has 40% sugar in it. How much sugar should be added to make it 50% in

the solution?

(@ 10gm ~(b) 40 gm (©) 60 gm {d) 30 gm

& GB13T T SFUTE 3 : 4 3R IHT AT 420 B TF1 H HIH-8 9] Tem 87
The ratio of the two numbers is 3 : 4 and their sum is 420. The greater of the two numbers is

@ 175 (b} 200 © 240 d 315

x Td y T SR BT AT 3 : 1 81 15 A8 P F1G TG U 2:1 BT SN | I a9 31 &

The ages of x and y are in the ratio of 3 : 1. 15 years hence, the ratio will be 2:1. Their present ages
(in years) are

{a) 30,10 (b) 45,15

@ 21,7 (d) 60,20

100 TF 200 & S T30 B S G=T, Il 9 TG 6 § TU 77
The total number of integers between 100 and 200, which are divisible by both 9 and 6, is
(@ 7 (b) 8 @ 5 d 6

12 W x 8 Ht §%d & H& H (50 T x 30 T B I9g § -l e ovIH B! SMagHaT &2

How many tiles of size (50cm x 30cm) are required to cover a room area of 12m x 8m?

@ 500 (b) 640 © 120 d) 600
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81.

82.

83.

84,

85.

86.

87.

U /PART - D
HRAMeTH T *aaerdr &7 g fam T
Who planted the ‘Tree of Liberty’ at Srirangapatnam?

(a) %ﬂ? 3‘!?ﬁ/ Hyder Ali (b) E&EW/ Tipu Sultan

(¢ < el WM / Chin Quilich Khan (d) HERMQ FTH @H / Murshid Quli Khan

fafifea 7 -0 Wismy TR F el i &

Which among the following is not a work of Rabindranath Tagore?
(@ E'IT%—‘R/ The Gardner

(b) Tiidiorelt / Gitanjali

(€ b 3ifp B1d dar / King of Dark Chamber

(d) Sue gt Pplaal sy TR B E / All of the above are works of Rabindranath Tagore

P Ul fea) ———— Y A T B

Rashtriya Ekta Diwas is observed on

{a) SI&IEX / October 20 (b)  SHAJEX / October 25

() SIKJEY / October 30 {d)  S{&JEX/ October 31

YR R IR ——— A RE R

The Indian Institute of Science is located at

(@) I / Kerala (b) ﬁﬂﬁ / Chennai

(© AR / Bangalore (d) :I_QF el / New Delhi

IR UR T0sd & 59 98 & IRT SRk oIk WeT 9o §2

Which planet in our solar system has thousands of spectacular rings around it?

(a) R /Venus (b) B / Saturn
(©) ¥gia/ Mercury (d) T30/ Neptune
fearerg @t Uk dong Aoft ——— wriR e
Pir Panjal range in the Himalayas is a part of
(2) Rrafa® / shiwalik (b) T RHRT / Trans Himalaya
() A AT / Central Himalaya (d) Y 39 / Lesser Himalaya
T3 Tt UR UER W a7 Fmior e T 2
On which river ‘Sardar Sarover dam’ is built
(@ 91T/ Yamuna (b) P/ Krishna
(c) :lffE{T/ Narmada (d) EAGE / Godavari
16
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88.

89.

90.

91.

92.

93.

94.

mmﬁfﬁ%ﬁﬁﬁmﬁﬂﬂzommmm?

Which country hosted the ‘World Petroleum Congress’ in 20217 -

(@ aR/ Qatar (b)  TYE ST SWEBT / USA
(© M/ Iran (d) WM/ Malaysia

o &1 e B is the capital of Punjab.
@) T&cwi/ Delhi (b) YR/ Jaipur
(o) a‘éiua_ / Chandigarh (d) aﬁé/ Chennai
BrepTdl Gdf Tl & Q fog g Bl TSty 82
Kolkata is the capital of which eastern state?
(a) TfE §Id / West Bengal (b)  SfSM/ Odisha (Orissa)
() TRES /Jharkhand d) BRI/ Tripura

Frofifed 3 @ Si-ar URdta voa 9 22 &y SiRigh Wi amsn S g

Which one of the following Indian states shares international boundaries with three nations?
(a) SWES / Uttarakhand

(b) ToHTEE USW / Himachal Pradesh

(© 3SHSUMEH qew / Arunachal Pradesh

(d)y 3HH/ Assam

FH T -~ & W1 (R B
Duncan passage is located between
(@) aferor Q?{ﬁ"fﬁﬁ 3[SHM / South and Little Andaman
(b) Tafed ud Je M&IER / Little and Great Nicobar

() ST TIHY ASAM / North and Middle Andaman
(d) T Ud Sf&r 3{8HM / Middle and South Andaman |

Frafifed & SiH-ar w8t 9 gt el o7

Which one of the following is not correctly matched?
(@) @ETQET: H&i?l’ﬂ'g’/ Dodabetta : Tamilnadu

(b) 7% TRWR: TSR / Guru Shikhar : Rajasthan

Wﬁ'@lﬁ‘: HENIY / Kalsubai : Maharashtra
(d) UG ATEM / Dhupgarh : Odisha

Frofaifda & SrH-ar gdfer yda RrR 2

Which one of the following is the highest mountain peak?

(@) T UEd / Nanga Parbat (b) g1 adt/ Nanda Devi
(¢ @EIY / Kanchenjunga d F2/K2
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95.

96.

97.

98.

99.

100.

R T B T TR T T s 7

Which one of the following is the oldest mountain range in India?

(a) %IHFRI/ Himalayas {b) 3RTdE! / Aravalli
() FagRT/ Satpura (d)  TIRRY/ Nilgiri

feiaR 26, 2021 1 <& H:ft Tery i 7 g =e” & sl afaler oo frarea R so @
Ieured faan

Which city Defence Minister Rajnath Singh inaugurated the BrahMos Aerospace cruise missile
manufacturing unit on December 26, 20217

(@ 1/ Delhi (b)  USI/Patna

(c) <t/ Ranchi (d) YIS/ Lucknow

oA A Y 2021 F o St W ¥ g Wit erpTe R R wie fan

Recently, who has received the Sahitya Akademi Award for the year 2021 for the English language?
(a) a{f?faq’fi’r/ Smriti Verma

(b) MR / Asha Chowdhary

() THGT IR ¥ / Namita Gokhale

(d) HIFSI AT/ Monica Jha

fAaqR fre STR-ud 31oa &t i 7

Dispur is the capital city of which north-eastern state?

(a) <SIH/ Assam ()] ﬁgvr/ Tripura

(© ﬁ'ﬂlﬁ'q/ Meghalaya {d) ﬁr\;ﬁml Mizoram
ofta il Wl T YREPR F TR UK dl B 82

Who is the first recipient of Rajiv Gandhi Khel Ratna Award?
(@) GFiel TEEBR / Sunil Gavaskar

(b) Flﬁ:fﬁgﬁﬁ/ Sachin Tendulkar

() ToeEnf¥g / Milka Singh

(d) TI%FITE 31 / Vishwanathan Anand

RIS UUH TR SR &
First Governor General of India is

(@) e THE® /Lord Amherst

(b) S fafimy e / Lord William Bentinck
(€) TR ARE UTHE / Sir Charles Metacalfe
(d) < FAZ / Robert Clive
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